


   - 2 pts work not shown for eigenbasis

QUESTION 8

8 Problem 8 9 / 10

   + 0 pts Blank

+ 9 Point adjustment

Minor mistake in the (=>) direction.

4      this is not an if and only if implication

QUESTION 9

9 Problem 9 9 / 10

   + 0 pts Blank

+ 9 Point adjustment

Unsimplified answer.

5      simplify

QUESTION 10

10 Problem 10 10 / 10

   + 0 pts Blank

+ 10 Point adjustment

QUESTION 11

Problem 11 10 pts

11.1 Part (a) 3 / 4

   - 0 pts Correct

- 1 Point adjustment

6      ??

11.2 Part (b) 2 / 2

✓ - 0 pts Correct

11.3 Part (c) 4 / 4

✓ - 0 pts Correct

QUESTION 12

Problem 12 10 pts

12.1 Part (a) 5 / 5

   + 0 pts Blank

+ 5 Point adjustment

12.2 Part (b) 5 / 5

   + 0 pts Blank

+ 5 Point adjustment
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